The formula for logistic growth are ABLES o
(@) dN/dt=rN
(b) £N/dN =dt

(¢) dN/dt=rN [—}
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(d) dN/dt=rN [—




Which ofthe followin@ an example of ABLES .

commensalism?

(a) “Sea anemone and clown fish

(b) ¥Epiphyte / Orchid on mango branch
(¢) M iver fluke and ﬂegg S

(d) “Cattl¢ egret and grazing cattle.
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Match Column - I with Column - IT and ABLES o
choose the correct option.

Column I Column II
A |Pacific salmon ;.Verhulst - pearl
fish logistic growth

B.{N: = No )( II |Breed only once m
{\ \5 life time

C.|Oyster ;H Exponential growthg~

dN/dt =/ \ IV|A large number of
D. [K-NT P [smallsized

N L K J offsprings
@) A-IV:;B-II;C-I;D-1I 4
(by A-III;B-IV:C-I;D- H L

©) , A—TI:B-1.C 1v: D -1\ .& K- )
g/A*lB‘#Ic IV:D YA %OWE)«\'
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The given 30 . (Q) '6 ‘ng ABL€S®KOTA
figure 57 e /\"609

flows g ; — .

biome Iy 5

distribuﬂ 5}-_ N Q’Sm ; Q]>>
tton with [T %2 L

respect to |f | ant Al tundra {BU'& 'ﬂd ¢

Mean annual precipitation (cm)

annual B T ™ " s s . \(bn‘kt LP\“%Q

temperature and precipitation. In this few A B C
parts are marked as A, B & C. Mark the (A) (B) (©)

correct 1dentification from the fOllOWiIlg ( Tropical forest Temperate forest Coniferous forest
1cture.
p (b) Temperate forest Tropical forest Coniferous forest

(C) Temperate forest Coniferous forest Tropical forest

(d) Coniferous forest Tropical forest Temperate forest
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The given @4\& KQ 6? V“\"“"k~Q },\‘?\b(h(;?( p" S ABL€S KOTA
figure shows T [ A
the diagram = i éo \ mms 9 (0\(\%0‘ M’(‘/s
match ' it 2 Re : ’ RQ
representation £y QAQA s
of organismif: Zt P AN a ' Po" J .
response.Which
OptiOH gives — intelfnal ;evell—lh '
the correct () By ©
identification of three types of organisms (a) Partial Regulator  Conformers
(marked as A, B & C) in response to abiotic regulator |
factor? (b) Regulator Conformers Partial
regulator
\(%7 Conformers Regulator  Partial
regulator
(d) Regulator Partial Conformers

regulator



What type ofthuman population)is 6nd 5eX Shv (M‘ ‘ ABLES

Post-reproductive

represented by the givenage pyramid? ’ ch“‘ D\AA(S&N\V
=D Ll X

Reproductive

Pre-reproductive #
Expanding
S=————eN

(a) Expandmgpopulation

=

S

Stable |Declining
NN

™

(b) Vanishingpopulation
(c) Stable population

w Declining population
) Q) s L-\’CD
"
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A country with a high rate of population
grgmztll/@ok measures {0 reduce 1t, The

ows age- se&_pyramlds of

ﬂ: [Weﬂt eara‘ apart.

Select the correct mterpretatmn abouft

theW s
i I

60 - 69 60 - 69

1
Male %I.:Fema e .

/

Male M Female

30-39 —

age (in years)

“B” 1s earlier pyramid and s
stabilized growth rate.
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“B” 1s more recent showing that
population 1s_very young.

“A”1s the earlier pyramud and no_
change has occurred in the growth rate.

“A” 1s more recent Wt
reduction in ¢ ) :
110 the growth rat




=
The density of a population 1n a given / ABLES o
habitat during a given period, fluctuates ':tm‘m
due to changes 1n four basic processes ©
On this basis choose the correct option to \\)

fill u ﬁd@ibog in the given diagram.

erar=i Mo | "
\\\ DtEan)ity '='->W)ﬂ~ ﬂo& 0»\9 . . o y

(a) A=Natality+Immigration, B= . 50 A M\ﬂ
Mortality+Emigration ST ot o $r
(b) A=Natality+ Mortality, B=Immigration (A&- o
+ Emugration A : @K
(¢) A= Birthrate+Death rate, B=Mortality o

+Emigration
(d) A =Natality-|— Emigl‘ation, B= MOl'tallty i/ )
+ Immigration



Identity I to IV which affect the population

density.

I

(a) Increase
(b) Decrease
(c) Increase

(d) Decrease

Natality | >

—"> | Mortality

Immigration
{}II
Population
Density I
A
Emigration
II I
Decrease Increase
Increase  Decrease
Increase  Decrease
Decrease Increase

IV

Decrease
Increase
Decrease

Increase
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[t N 1s the population density at time t,then ABLES -
its density at time t + 1 1s

@ N =NFIBrDH+D+E)
b)) N, =N-[B+D)+D+E)
(¢) N._.,=NF[B+D)-D+E)
@ N =N-[B+D-D+E)
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